Answer KEY

For each regioisomer (1,2-, 1,3- and 1,4-dimethylcyclohexane), draw the ring flip for
both cis and trans and determine which stereoisomer (cis or trans) is the more stable.

0
i

Trans is more stable
one conformation
has both groups in
equatorial position

T
T T
0
0T
I(A)
w

CHs
H . .
Cis is more stable
H - . CHs one conformation
H has both groups in
equatorial position
CH,  CHa L

H3CN H —

HsC

z Z T T
I

CHs

[

Trans is more stable
one conformation
has both groups in
equatorial position




